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Ejercicio 1
Expresar explicitamente en n las sucesiones:

(a) an =5an_1 —6an_2, Vn =2 conap=1a =3.

e —

(b) 3a,41 =2a, +a,_1, Yn=1 conayg="7a, =3.

(¢

an —6a,-1+9a,-2=0, Vn =2 conag=>5a =12.

)
(d)

an, = 20,1 +n2", Yn =1, conag=1.
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Ejercicio 1
Expresar explicitamente en n las sucesiones:
(a) an = 5an_1 — 6a,_2.

(b) 3a,,1 =2a, +a,_1., Yn=1, conay=
(¢) an —6an—1 + 9an_2 =0,
(d

n = 20n-1 + 722",

Vn = 2, con ag = 5,a1 = 12.

VYn =1, con ag = 1.

Vn = 2, conag = 1.a; = 3.

7.ay = 3.

c)

Xp-Lag.1 T1ap-2 =0
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